A £ 0l & AF & S

Al A

20248 =0ila eS| AtE =Xt
FA A=
M =MSACA EH
i H ES =) s QA (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
A =R 11,012,848 9,805,243 1,207,605
= 1,128,253
Albl 684,501
Tl 9,200,094
SMSETAl 2 5,634,968 3,218,345 2,416,623
He 33 24 3,075,984 871,298 2,204,686
32 ¥ KX 22|(HEAIY) 715,984 451,298 264,686
101 @124H| 257,483 251,597 5,886
04 JIZtNZ22 NS+ 257,483 251,597 5,886
Osd, 7EX & 2l 223,284
g rall 88,2723 x13H 28U +6E 192,787
gEg 3,000 x2&+x28L «6E 1,008
I ECEEIE
192,787,0002 *4. 5% 8,676
201 YBE R
192,787,000 *3. 545% 6,835
- IESEERE=S 192,787,000 *1.75% 3,374
MIHEERES 192,787,000 * 1% 1,928
LOARYEERES
6,835,000&%12.81% 876
SAZE 300,000& *13H 3,900
-HEHO=S 300,000 %13 3,900
OxtMAIZE 22| 3,19
- Q124 88, 2722102282 46 29,660
ENSEEECAEE
29,660,000 *4. 5% 1,335
=RALEERE=S
29,660,000 *3.545% 1,062
- IEEERES 29,660,000 *1.75% 520
MHEERES 29,660,000 * 1% 297
A RLEERES
1,052,000 %12.81% 135
SXZIE 300,000 *2&H 600
202 300,000 2 600
201 er23| 141,691 97,891 43,800
01 AtR2t2|HI 32,200 0 32,200
Osl9 & o S 71
1,000,000 1,000
O&=Jl AL BZ 50,000 *20H* 122 1,200
Ok JIRdHUSESE S=0/A14 2]
9 30,000,000& 30,000
2 s5=34l 109,491 97,891 11,600
Ozl 382 78,066
&= 3,000,000 ~12& 36,000




FA A=
HH: =MSAT Al XA
oels HEe S X4 EER=E)
S - B - S9I(E) - ARA of v G o HIDE2
e py 7,000,000 62 42,000
SHEA O DE AIEE
5,500 11 x 122 66
O&d, 72X AIE&dl =X 31,425
S8S 1,000,000 *55= 5,000
S, X L 22| S
4,500,000& 4,500
2, RN A= FH|
5,000,000 5,000
DA STAM U 224 Fy|
5,000,000& 5,000
UL (A=}, 24| 8)
7,425,000& 7,425
- O{el0l=0IA12 ZIIAIES A
4,500,000 4,500
203 =] 810 810
03 A=A 2= 810 810
OSHER 2435t =8 900, 000 *90% 810
206 M=l 22,000 22,000
01 MHZH| 22,000 22,000
Os& el A+ 22,000
rEe5 2 M0 FY 10,000,000 10,000
s 2 AIEE 22 P2
12,000,000& 12,000
305 ia =S 2,000 2,000
01 that=S 2,000 2,000
Ozaia (s 2el) 2,000,000& 2,000
401 AlEHIZ 2018 280,000 65,000 215,000
01 Al&H| 280,000 65,000 215,000
OOel0l=0IAlE R2ela= EY
5,000,000 5,000
O EHRX T 252 JENEH E
B 35,000,000 35,000
O3¥ U 02l0l=0IAIE EHI
10,000,000& 10,000
O=At 2SHIJ1 At 50,000,000 50,000
OO0L0I&H ==0t=Z U3 SdIAE
100,000,000& 100,000
OSLOtAIOIESE S0IAE FHIAY
80,000,000 80,000
405 AHaHE = 12,000 12,000
01 ML ESFSHI 12,000 12,000
O2SAlE & HAL 2L
12,000,000 12,000
CIHE JI2UHE TAl= ZEAY 700,000 200,000 500,000
401 AIEHIZ SR THYI 700,000 200,000 500,000




FA A=
M =MSACA EH
(s B ESES] B e QRN EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 700,000 200,000 500,000
OUUHE JI=HE TAl= Z8AY
700,000,000 700,000
STAK Moo & S22 100,000 100,000
401 Al HIZ S OHbI 100,000 100,000
01 A28l 100,000 100,000
OSZAA Mol ol & S2(EH L 47
2 IHl) 100,000, 0002 100,000
FYS MY 2E 3 ZAAY 1,500,000 1,500,000
401 Al&EI L2 0HY] 1,500,000 1,500,000
01 A&t 1,500,000 1,500,000
OZBUE WYX 22 28 TN (P
2 AAHI) 1,500,000,000& 1,500,000
CiHsS AHI-56H1A 2@ TAIZ2|AHE(A2R)ZE 8 60,000 0 60,000
[eZ]
401 Al HIZ S 0HbI 60,000 60,000
01 AlZ2H| 60,000 60,000
OUis AH13-56H X L TAlZ2IHE (&
3¥)28 29 60,000,000 60,000
MEE2t =5t 2,558,984 2,347,047 211,937
2= & 3t =X 22 1,388,984 1,247,047 141,937
101 @124H| 514,455 502,063 12,392
M ORINZZ2NSE S 514,455 502,063 12,392
Otz & ste=Il 2el 446,060
IAYI (FEXEE)
88,2723 x26H 28 L 6 385,573
LSy 3,000 +x3& 282 +6E 1,512
-=RUASEEHRYES
385,573,000 *4.. 5% 17,351
ALY EHRES
385,573,000 *3.545% 13,669
- IEEERES 385,573,000 *1.75% 6,748
MIHEERES 385,573,000 * 1% 3,85
oA RYEERES
13,669,000 12.81% 1,751
SAZIE 300,000 264 7,800
-EEY0E 300,000& x26H 7,800
OBXIZ& 22 68,3%
- QIAH(FEREE)
88,2723 x4 H+28 26 59,319
SLHSEERES
59,319,0002 *4. 5% 2,670
=UALEH RS
59,319,000 +3.545% 2,103
LELSHRYS 59,319,000 *1.75% 1,039




FA A=
M =MBACA A
Rl et =3t EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SHEERES 59,319,000& * 1% 594
LOIEY|QUTERET
2,103,0002%12.81% 270
- =XEE 300,000 *4H 1,200
-HEY0S 300,000 4 1,200
201 er23 | 90,129 93,884 A3,755
01 At2teltl 6,000 10,600 24,600
OAlsIeH HEZ 6,000,000& 6,000
02 S3=gl 84,129 83,284 845
OsXAEE S38= 46,260
o - otrkes 5,580,000 62 33,480
o= 900,000 * 122 10,800
Il MBS 55,0002 +3CH =122 1,980
O=izelEg AEEH =X 37,869
- OlIF DI 90,0002 *6H 540
- SES 90,0002 2CH 180
- SHEEEN 90,0002 «1CH 0
- IO 90,0003 *1CH 0
- RRUEYS) 1,7432+1,000L 1,743
- RSO, ER) 1,626& *1,000L 1,626
C=X2els SOILXH IS & ==0[4l)
495,000 x 10 4,950
=sXzelg SIYIHASI)
495,000 x50 24,750
SNHYE HHES 65,0002 +60H 3,900
206 M=l 179,400 174,900 4,500
01 MHZH| 179,400 174,900 4,500
OJt2==, 3t =X 22l XY 66,900
SIt2a 2bE AR O A
5,0002+6, 00074 30,000
- EollE FHSHA 11,2353 %1789 2,000
NESS 20,0003 x300% 6,000
- AYER(HEIR, S, WFHIIE 8)
10,0002« 1208 1,200
g 2482 = S30HH
40031 %33, 50074 13,400
2, s =SHl=
10,0002 %1,200 12,000
JIEH 22l XK 2,300,000 2,300
OHEE =3} Mok 2el Xt 112,500
A S(O2H)
13,0002 *4,0007K 52,000
ZEaH S A=z
1,000& *6,500=+33] 19,500




SH: AR=TI
B =MEAC A TH
el ME32t =3 (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
‘HE & s 10,0003 600 6,000
= I 2002 *170,0002 34,000
JIErZ2I R (2=AlE S)
1,000,000& 1,000
305 Hial=s 1,000 1,000
01 i3S 1,000 1,000
Ozl & (=XI&) 1,000,000& 1,000
401 AlEBIZ 200 604,000 475,200 128,800
01 Al&Hl 602,000 473,200 128,800
OZgsXl Y AHHX =X 22
35,000,000 35,000
Ot 2 tEt=X] 22l
150,000,000& 150,000
OMX=E A2 22l 30,000,000& 30,000
O78Es |RFA 22 2|
15,000,000& 15,000
OL2E &HH=Z Xel 170,000& =600t 102,000
O27 2 sttt & =8 & F|
50,000,000& 50,000
OusZd s =X 22
50,000,000 50,000
OxXgALR Y = 22
20,000,000 20,000
OJt2 & st=Rkl 24
20,000,000& 20,000
OLAMX S 2L (U0l AH)
100,000, 000& 100,000
OS2k ol2s T2 AM(=2E Al
&) 30,000,000& 30,000
03 Al CHHI 2,000 2,000 0
O=XAtS A&L08I 2,000,000& 2,000
AACT] L HELIR JIZ24 =SAA ALY 50,000 50,000
401 AIEHIZL20HHI 50,000 50,000
01 Al&HI 50,000 50,000
OMHEX W HEUR JIZ2= =3A4l A
A 50,000,000 50,000
AKX HEUSR Jt=2= JHXIXID| 300,000 300,000
401 A& B 20HY| 300,000 300,000
01 AlEHI 300,000 300,000
OLHEHA HELR Jt2 Satatel
300,000,000& 300,000
Jt2= JHXIXID| SAl 300,000 300,000 0
401 AIEHIZL 200 300,000 300,000
01 Al&HI 300,000 300,000
OJt2== JHXIXID| SAt 300,000,000 300,000




S AR=XID
sz

B =MBATAl T4
Rl et =3t EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
TE2S HANSE A 200,000 200,000
401 AIZHIYL S OHE 200,000 200,000
01 Al&HI 200,000 200,000
OZ&es B#X3 A
200,000,000 200,000
ZIZOHEHOHITE A XIS At 20,000 20,000
401 AlZHIZ SO 20,000 20,000
01 A28l 20,000 20,000
OZHGHEHOIIIE HRISE REAH (ZAH I
) 20,000,000 20,000
YNl 2 S SHZIHS AL (F=2IF 010 300,000 0 300,000
)
401 Al HIZL 201 300,000 300,000
01 Al&H| 300,000 300,000
SN 2H S HE 2L AL
& (FRIF 00 300,000,000 300,000
2o &4 4,997,397 6,179,480 1,182,083
= 1,128,253
AlHI 684,501
Tl 3,184,643
=N 1,169,862 1,086,672 83,190
= 64,582
AltI 29,060
Tl 1,076,220
SEMY 2 et 858,744 851,514 7,230
101 21A4H| 830,039 805,410 24,629
04 JIZtN2 2N S 2+ 830,039 805,410 24,629
OLt=ZAl 830,039
- QIAHI(FEX )
88,2723 x48 B x28 LU +6E 711,826
REESES) 3,000 x0H 28«6 4,53
-mUASEERYS
711,826,000 *4. 5% 32,033
=RALEERE=S
711,826,000 +3.545% 25,235
Lo RYEERES
25,235,0002%12.81% 3,233
- IE2ERES 711,826,000& *1.75% 12,457
MWEERES 711,826,000 * 1% 7,119
JE dois 300,000 »48H 14,400
SXZE 300,000 »48H 14,400
etdst S SUHMHHMZES
100,000 48 4,800
201 fet=3| 18,330 35,729 17,39
01 AtR2t2|HI 14,670 29,270 14,600
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FA A=
M MRITROl X4
&Rl AES Y (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Alt] 125
Tl 278
01 At2tltl 683 700 A7
Ott=2dst g4 683,000 683
= 280
Altl 125
Tl 278
202 04l 1,492 1,475 17
= 590
Albl 266
Tl 636
01 =LHO LI 1,492 1,475 17
Out=2dst &5 1,492,000& 1,492
= 590
AlHI 266
-l 636
SrERIE X2 (T 4) 11,700 11,700 0
= 4,680
AltI 2,106
-l 4,914
401 AIEHIZ SR THYI 11,700 11,700 0
= 4,680
AltI 2,106
-l 4,914
01 A28l 11,700 11,700 0
Our=0e gatd X S
11,700,000& 11,700
= 4,680
AlHI 2,106
Tl 4,914
AEXSHEHIE S (H4) 9,217 9,217 0
= 3,687
AlHI 1,659
Tl 3,871
206 M=l 9,217 9,217 0
= 3,687
AlH] 1,659
Tl 3.871
01 MZH| 9,217 9,217 0
Out=d sl ¢ 9,217,000& 9,217
= 3,687
Al 1,659
Tl 3,871




FA A=
M MRITROl X4
&Rl AES Y (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
UERHSA2HE(ZY) 800 800 0
= 320
Albl 144
Tl 336
405 KHakE SH 800 800 0
= 320
AltI 144
-l 336
01 TR =S FISHI 800 800 0
OBUHE2EI| U7
800,000 1CH 800
= 320
Albl 144
-l 336
A2 A E 2| (KH2) 1,950 1,950 0
= 780
AlHI 351
-l 819
201 fer= 3| 1,950 1,950 0
= 780
AlHI 351
Tl 819
02 S3=gl 1,950 1,950 0
OL=ZAIE AXZMAIAY JtHl & S
A2 (15CH) 130,000 *15H 1,950
= 780
AlHI 351
Tl 819
METHHUS(METES SIHED) 86,880 86,880
308 AtAIEHMSOIE 86,880 86,880
07 HAHH 2R 52 86,880 86,880
OdtETHHUS (M2 TsE X)) St
] 86,880,000 86,880
stz 2e| 3,827,535 5,092,808 1,265,273
= 1,063,671
AlHI 655,441
Tl 2,108,423
SAHEHES A 420,814 328,891 91,923
101 eI24d| 168,957 163,524 5,433
M ORNZZ2NSE S 168,957 163,524 5,433
Otle2sd 68,7%
QIAH| (FRXEE)
88,2723 x4 H+28 26 59,319
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FA A=
mu: NRINREY X4
Rl g2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 Al HIZL 2018 212,000 112,000 100,000
01 Al&H| 212,000 112,000 100,000
ORHIAA =4 2,000,000& 2,000
oLty &= Xel 30,000,000& 30,000
OLHE U A= =Xl2c
30,000,002 30,000
OArR! OIEXI TEHSIES FHIZA
50,000,000 50,000
OFg Stt28 HAMY CCTvV £X
100,000,000 100,000
ME3H T (HEAY) 212,000 2,000,000 A1,788,000
401 AIEHIZ SR THYI 212,000 2,000,000 1,788,000
01 AlZ8| 212,000 2,000,000 A1,788,000
ONA= a3 Z4(£2H)
212,000,000 212,000
HREHEAE X 193,757 387,514 193,757
= 135,630
Albl 40,688
Tl 17,439
401 AIEHIZ R 0HYI 193,757 387,514 A193,757
= 135,630
AltI 40,688
-l 17,439
01 AlZ8| 193,757 387,514 193,757
OHFEH (1km) 193,757,000 193,757
= 135,630
AltI 40,688
Tl 17,439
AXIAFEAIE KA 162,000 81,000 81,000
= 113,400
AltI 34,020
-l 14,580
401 AIZHIX S0HH 162,000 81,000 81,000
= 113,400
AlHI 34,020
Tl 14,580
01 Al&H| 162,000 81,000 81,000
OAEXI A2 (2ha) 162,000,000 162,000
= 113,400
Alt] 34,020
Tl 14,580
AZAIE 229 0|72 B 880 880 0
= 616
Al 184




AE =Xt
AT BN
At ke M)
SA - BB SRAGIH) - NSAY - BES i s
- 80
401 AIEHIZL 2 OHYI 880 880 0
= 616
Al 184
- 80
01 AlZHI 880 880 0
OAFZAIE @izt 2 (4H4)
880,000 880
= 616
Al 184
- 80
TES dEAMH S 72X MTAE 28H 880 880
401 Al HIZL 200 880 880
01 Al&HI 880 880
O78EsS 4EAME S S7A AFZAI4 2
2E 880,000& 880
ANEES =& 22 21,000 21,000 0
= 14,700
Al 4,410
el 1,890
401 AIEHIZ 2018 21,000 21,000 0
= 14,700
Al 4,410
- 1,890
01 Al&Hl 21,000 21,000 0
OAr e 2te|(F£4)(32)
21,000,000& 21,000
= 14,700
Al 4,410
- 1,890
APAER 2HA 224 X1 AEHE AL 7,000 0 7,000
= 3,500
Al 1,050
- 2,450
401 AlEHIZL R OHY| 7,000 0 7,000
= 3,500
Al 1,050
-l 2,450
01 AlEHI 7,000 0 7,000
OA4LAIEH &8 R XIS AEHZAL
7,000,000& 7,000
= 3,500
AlHI 1,050
-4l 2,450




FA A=
mu: NRINREY X4
Chel: ARl (ool )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ArETHGH Xt EII(AFAIEHE Z 02 E) 60,282 62,000 A1,718
= 23,953
Albl 10,778
- 25,551
201 =3 400 400
01 AlR22lH| 400 400
OGtAIE S Z oY ANEE 2
400,000 400
401 AIZHIX S0 50,882 62,000 A2,118
= 23,953
Alt] 10,778
2| 25,151
01 A&t 59,882 62,000 ~2,118
OAFRITIBHTIR] I (AAENBI RO 2 EH)
59,882,000& 59,882
= 23,953
Alt] 10,778
Tl 25,151
=X L2 (HEAY) 1,000,388 736,922 263,466
AlHI 282,000
Tl 718,388
101 @124H| 120,388 116,922 3,466
04 JIZtN22 XS 2+ 120,388 116,922 3,466
O=Z2d JIZtNZ22X g3 120,388
QI (FRRES)
88,2722 x7 H*28 L6 103,808
-=mUASEEE 103,808,000 4. 5% 4,672
-RUALEEE 103,808,000 *3.545% 3,680
- HIRYEEE 3,680,0002%12.81% 472
CIEEEE 103,808,000 *1.75% 1,817
MHEER 103,808,000 * 1% 1,039
- SAEIE 300,000 *7 2,100
-HEY0E 300,000 7 2,100
=X JIZNZ2E2A HEES 7Y
100,000& *7& 700
401 AlEHIZL SO 880,000 620,000 260,000
AlH] 282,000
Tl 598,000
01 Al€HI 880,000 620,000 260,000
O=Zxd € 2 300,000,000& 300,000
Og&EZ &4 200,000,000 200,000
OS4t2 ZI(10km) 320,000,000 320,000
Altl 272,000




A AE=sIID
mu: NRINREY X4
Rl g2 EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
B 48,000
OSO0Hh 5 S4H2 Fi| Lo
40,000,000& 40,000
OS&Z AQIE 2 XA
20,000,000& 20,000
Altl 10,000
sl 10,000
AT AL (HEAIY) 28,800 4,800 266,000
Altl 21,888
4| 6,912
401 A& HIZLS0HY| 28,800 4,800 266,000
Albl 21,883
-4l 6,912
01 AlEHI 28,800 4,800 266,000
O = 2=(6.4km) 28,800,000& 28,800
Albl 21,888
-4l 6,912
=ofld MESXEEY 2E 29 85,998 79,428 6,570
= 42,999
Albl 30,099
-4l 12,900
307 212+01 A 85,998 79,428 6,570
= 42,999
Albl 30,09
-4l 12,900
05 CIZtRAErE 85,998 79,428 6,570
Ondhe MR=TH2Y Ss 2
85,998,000& 85,998
= 42,999
Albl 30,099
=4l 12,900
IU¥IE B+ L3 EH ZUIAS 300,000 0 300,000
401 AIEHIZ20HHI 300,000 300,000
01 Al&HI 300,000 300,000
OLFIS 254 L¥ 2E ZUIZA
300,000,000& 300,000
2L 3UxE 22,000 22,000 0
= 11,000
Altl 3,300
sl 7,700
401 A& B2 20iY| 22,000 22,000 0
= 11,000
Al 3,300
-4l 7,700




FA A=
mu: NRINREY X4
Rl g2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 22,000 22,000 0
OZ2UR s4xE 22,000,000 22,000
= 11,000
Altl 3,300
el 7,700
OIMIZHA Mg S=IH0| 488,160 208,272 279,888
= 244,080
Albl 73,224
Tl 170,856
401 Al HIZL S 0HYI 488,160 208,272 279,888
= 244,080
AltI 73,224
-l 170,856
01 AlZ8| 488,160 208,272 279,888
ODIMIE XM 2= It 488,160,000 488,160
= 244,080
AltI 73,224
Tl 170,85
MO0 204,176 62,710 141,466
= 102,088
AltI 30,626
-l 71,462
401 AIEHIX 20 204,176 62,710 141,466
= 102,088
AlHI 30,626
Tl 71,462
01 Al&H| 204,176 62,710 141,466
OZE X0l LRI 90,272,000 Q0,272
= 45,136
Alt] 13,541
Tl 31,59
O&t= 0= I 113,904,000& 113,804
= 56,952
Alt] 17,085
Tl 39,867
2ot Holls 2l 23,550 0 23,550
= 16,440
Al 2,133
Tl 4,977
401 Al HIZL 201 23,550 0 23,550
= 16,440
Altl 2,133
Tl 4,977




FA A=
mu: NRINREY X4
Rl g2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At 23,550 0 23,550
ONEHHE HRLUREA S
23,550,000& 23,550
= 16,440
Al 2,133
Tl 4,977
2URMAEE X 90,229 130,516 AN40,287
= 69,340
Al 4,150
Tl 16,739
401 Al HIZL 201 90,229 130,516 A\40,287
= 69,340
AlHI 4,150
Tl 16,739
01 Al&HI 88,229 128,516 AN40,287
OALIRHASE 2l 88,229,000 88,229
= 69,340
AltI 4,150
-l 14,739
03 Al 20HHI 2,000 2,000 0
OSAZ=2 MMl S
2,000,000& 2,000
ATHOH L Ktel ZOI(AHEHSUHE LM S-ZAEE) 169,661 169,661 0
= 84,831
Alt] 25,449
Tl 59,381
401 Al HIZL 201 169,661 169,661 0
= 84,831
AlHI 25,449
Tl 59,381
01 Al&HI 169,661 169,661 0
Osre ol S0l =22 A et 169,661,000& 169,661
= 84,831
AlHI 25,449
-l 59,381
AETHO L K2l EOI(AHEHSHE LN -T2 EX) 2,852 0 2,852
= 1,426
AltI 428
Tl 9%
401 Al HIZ S OHbI 2,852 0 2,852
= 1,426
AlHI 428
Tl 998




FA A=
mu: NRINREY X4
o2 Al z2tel EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At 2,852 0 2,85
OLHZTHAH L Rb2] (A2 BT SO Z RIS (X
2) 2,852,000& 2,852
= 1,426
Alt] 428
Tl 998
AEMEIAE ROl 2E(HEALS) 47,868 93,334 N45,466
AlHI 31,114
Tl 16,754
101 @12A4H| 47,868 93,334 N45,466
AltI 31,114
-l 16,754
04 JIZtN2 2N S 2+ 47,868 93,334 N45,466
O Al=X2eld 47,868,000 47,868
Albl 31,114
Tl 16,754
AHSRX RA22l(XH2) 285,240 0 285,240
= 199,668
Altl 59,900
Tl 25,672
401 AIEHIZ R HYI 285,240 0 285,240
= 199,668
AltI 59,900
-l 25,672
01 A28l 285,240 0 285,240
Ot =R |22l (26ha)
285,240,000 285,240
= 199,668
AlHI 59,900
-l 25,672
HY2EGHI(AZ =) 380,483 407,418 A\26,935
el 2| 334,950 361,885 N26,935
el 2a| 334,950 361,885 N26,935
101 @124H| 333,450 359,810 N26,360
03 SRH(RINAHA) 222+ 333,450 352,400 /18,950
odte, =X, & 2c2d 326,800
lEs 3,500,000 x5« 122 210,000
SRR 7,200
5SS
40,0002+« 12& 2,400
IS (EHS)
20,0003 =20 +12& 4,800
Scl=4dl 22,400
~HoZAlH| 140,00021 452+ 122 8,400




SN ARSI
M HAPAZH|(MS =KD
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-2 = E0H| 3,500,000 +52 +B0% 14,000
EZDDRAY 87,200
Huaesy
21,1653 *8A| 2k * 150%+52 2 x5 H 66,035
RPNETE= ) S
21,1653 +xBA| 2H+5EH 25 21,165
Og1tati= 3,500, 000& *38%+5&H 6,650
201 er2 3| 1,500 1,575 AT5
01 AtR2te|HI 1,500 1,575 ANT5
Oll=s - etA&3t - gets S
300,0002 5% 1,500
J1I=288l 45,533 45,533 0
JI=23Hl 45,533 45,533 0
201 2egh=3| 12,053 12,053 0
01 At2t2ltl 12,053 12,053 0
ORN2g=3HI 5,832,000& 5,832
OJlzge=d Sl 6.,221,000& 6,221
202 048l 30,240 30,240
01 2L AL 30,240 30,240
OJlzgs=4 04|
280,000 «18H~6E 30,240
203 gF=4| 3,240 3,240
M EASHLRFAH 3,240 3,240
ORNSgE =] 3,600,000 *90% 3,240




